SlNGAPORE CHINESE GIRLS’ SCHOOL

' SECOND SEMESTRAL EXAMINAT!ON 2012‘ '

PRIMARY 5

MATHEMATICS
PAPER 1

BOOKLET A

Name : | )

Class : Primary 5

. , | Marks attained | .Max Mark
Paper 1 Booklet A | 20
. A .Bbokl'et"B‘ 5 T 20 o
" Paperz | . ] 80
Total Marks | - .. o _ . 100

15 Questions
20 Marks

Total Time for Booklets A and B:.SO min

INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.
Follow all instructions carefully.

Answer all questions.

You are not allowed to use a calculator




' Bodkiét A |

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carryz marks each.

_For each question, four options are given.. One of them is the correctanswer. . . . = . . . ..

Make your-choice (1, 2, 3'or 4).- Shade the correct 6val (1, 2, 3 o 4) on the' Optical
Answer Sheet. ‘ {20 marks)

1. In3519 742, the value of the digit ‘1’ is

(1 1x1000

2} 1x10000
(3) 1 x 100000
(4)  1x 1000000

2. S¢e2me =
(1Y 927z
(2) 9.02¢
(3) 9.002¢
(4) 9.0002 ¢
3. How many ninths are there in 2%?' :
(1 12
(2 20
B 21
4 24
4, Study the following number line carefully. What is the value of N?
R e e S
2.5 T 27
N
(1) 2.552
(2) 2.57
(3) 2602
(4 284
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Mei found that she was left with the fo!Iowing coins in her pocket.

' She took out two of the coins and spent them on some snacks. Which of the
following amounts eould not be the amount that she spent on the snacks?

(1) $0.55
2) $0.70
(3) $0.80
4) $1.00

There are 80 strawberry-flavoured and chocolate-flavoured sweets in a
container. 56 of them are strawbeny-flavoured. What percentage of the sweets is
chocolate-flavoured?

() 24%
@ 0%
(3) . 56%
@)  70%

Arrange the following numbers in ascending order.
41, 4019, 4109, 419

(1) 41, 419, 4109, 4019
@) 4019, 41, 4109, 4.19
3) 4.1, 4019, 419, 4109
@) 4019, 4109, 419, 41
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8. Eight children shared —;i of a cake equally among mé_mseives. 'What fraction of _

| the C‘?‘F?-did-:‘?aﬁ,h,?hii?-Qef?:--_;--ﬁ-----;_~_~;-_- e
‘0 % o
) . %
@
@

9. In the figure below, ABE is an equilateral triangle. BC/ED and BE/CD. Which of
the following statements is true?

A

(1) ZABE= <BED
(2) <EBC=/EDG
(3)  ZABE+ ZEBG = 180°
(4)  ZAED + £EAB = 180°

10.  Isaac, Javier and Kieran shared a sum of money in the ratio 2 : 4 : 3. If they
shared a total of $450, how much more money did Javier receive than Kieran?

(1) $50
2) $100
(3) $150
@) $200
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11.  Aishah and Brenda spent 10 minutes packing apples into bags. Every minute,
Aishah packed 4 more apples than Brenda. If they packed a totat of 244 apples

..~ how many.apples did Brenda pack? . ...

&)
2)
(3}
4

102
120
122
142

12.  Inthe figure below, P and R are two identical hearts. The area of P is 5 times the
area of Q. What is the ratlo of the area of the shaded part to the area of the

whole figure?

(1) 1:5

@ 1:8

3 1:9 P
(4 1:10

13.  Giventhat 1825 x 4 = 73. 1 182.5 x

in the

(1)
@)
(3)
)

?

0.4

0.04

40

400

=73, what is the missing number

14.  Sue had an equal number of pink and yellow clips. She gave away 22 pink clips

and bought another 36 yellow clips. The number of pink clips becomes % the

number of yellow clips. How many pink clips did she have at first?

(N
(2)
3)
(4)

29
36
58
80
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15. " The banper below shows the first 16 letters of a pattem. Which letter is in the
45™ position? | " R

RESPEGTRESPETCTRE ... ?
gt | | 45"
m ¢
@ P
@ S
@ T
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SINGAPORE CHINESE GIRLS’ SCHOOL

SECOND SEMESTRAL EXAMINATION 2012

'PRIMARY &
MATHEMATICS
PAPER 1
BOOKLET B
Name : { )
Class : Primary 5
" Papert  Markattained” | " Max Mark
Booklet B | | 20

15 Questions

20 Marks

Total Time for Booklets A and B: 50 min

INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.
Follow all instructions carefully. '
Answer all questions.

You are not allowed to use a caleulator
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Booklet B

this calumn -

-Name> .= v ( ) 3 c;ass: p5 SYJ'CIG ISE fP Do potwritein

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 marks)

16. Find the value of 3.25 x 20.

Ans:

17.  Jesse paid 7% GST whert he bought a bed. If the GST amounted to $56, what
is the price of the bed, excluding GST?

- Ans: 3

18. MrWong had $20(50- He spent 10% of his money on dothings-and 20% of ilt
on a washing machine. How much money had he left?

Ans: §

19.  In the figure below, not drawn to scale, ABCD is a trapezium.
Given that AB // DC, find the area of triangle BCD.

30cm
A IT
!
ZOCm: 220m
1
1
D 12e¢m C

Ans: cm?
4
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. 20. . “Ann and Bella have some apples. 25% of Anm's apples is equal tb 40% of
Bella's apples. If Bella has 60 app!es fewer than Ann how many apples
does Ann have 7 - .

Ans:

21, Mrs Tan had % m of cloth. She used -3: of it to sew a pencil case. How much

cloth had she left? (Express your answer in the simplest form)

Ans: m

22, When Al is multiplied by 4, the product is 8 times of 7.
' What is A?

Ans:

23.  Roy, Siva and Taufiq shared a packet of marbles. The ralio of Roy’s marbles to
Siva’s marbles is 1 : 2. The ratio of Siva’s marbles to Taufig’s marbles is
4 ; 5. What s the ratio of Roy’s marbles to Taufig’s marbles?

Ans:

Do not wﬁte in
this column
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o " - - : . . e L D?n_otwr_itein B
24.  The sum of two numbers is 66. The smaller number is% of the larger number. fis colomn
What is the value of the smaller number?
Ans:
25, May made 3 cuts on a piece of ribbon that was 48 cm long. Assuming the
pieces of ribbons are of equal length, find the length of each piece of ribbon.
Ans: cm
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. Questions 26 to 30 carry 2 marks each Show your working cieariy in the space for

each question and write your answers in the spaces provided.
. For questto_ns which reqqsre units, give your, answers in the units. jstated. (10 mark‘s)_ I T,

26.

8 lamp posts are equally spaced along a street. If the distance between the
first lamp post and the third lamp post is 300 m, what is the distance between

-the first lamp post and the eighth lamp post?

Ans: m

2.

Jane had some sweets and chocolates in the ratio 3: 5. If she ate 6 pieces

of chocolates, she would have the sanie number of sweets and chocolates lef-t

Find the total number of sweets and chocoiates that Jane had.

Ans:

28.

Ali is % as old as his uncle now. In 8 years’ time, he will be % as old as hi

uncle,
How old is Ali now?

Ans: years old
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29, Rina, Sam and Tricia had an equal number of pencils. After Rina and Sam
.each gave the same number of pericils to Tricia, the total number of pencils

- .-:==z¢‘;..‘that Rina.and Sam had was the same as the- number: of pencils Tricia had: lf

| Tricia had 24 pencﬂs in the end, how many pencils did each of them have at

first?

Ans:

* { Do not wiite in .

this column

30.  Figure 1 shows a triangle. When it is folded along the dotted line as shown in

Figure 2, its area becomes % of the area of the original triangle in Figure 1.

If the area of the shaded part in Flgure 2 is 20 cm? what is the area of the
orsgmal triangle?

Figure 1

Figure 2

Ans: _cm

End of Paper 1
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SINGAPORE CHINESE GIRLS’ SCHOOL |

SECOND SEMESTRAL EXAMINATION 2012

PRIMARY 5
MATHEMATICS
PAPER 2
Name : ( )
Class : Primary
Mark |  MaxMark Parent’s Signature
Paper 2 ey
P 60

18 Questions
60 Marks

Total Time For Paper 2: 1 h 40 min

INSTRUCTIONS TO CANDIDATES

Do not open this booklet untit you are told to do so.
Follow all instructions carefully.

Answer all questions.
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Questlons 1 to 5 carry 2 marks each. Show your working clearly in the space below t?,?;;‘:,‘lrm";e n
" each question and write your answers in the space provided. For questions which -

o requ:re units, give your answers In the units stated ' (10 marks) o
L Ths diagraim bélow is .ﬁqt"drawryt&ﬁéba_!e._ ABCD is‘atectangle. "~ 7 [
BC = CE and LAEC = 125°. Find ZAEB.
‘ AT B
<
25°
D E C
Ans: °

2. A piece of white ribbon is 50 cm longer than a piece of black ribbon. The length
of the black ribbon is 2.54 m. What is the total length of the black and white

ribbons?
Ans: m
3. What is the missing number in the box?
2842~+7 = x 7+ 7
Ans:
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. N . VD? not write in
4. A box containing 40 identical marbles weighs 4 kg. The same box containing s calumn
55 identical marbles weighs 5.08 kg. Find the mass of each marble.
Ans: ‘ g
‘5. Sharon wants to buy 12 files buit she is short of $4 20 If she buys 7 !es she
will have $8.80 left. How much does each file cost? -
ANSI b
4

P5 Math SA2/Paper 2 2012 2 !



' For questions 6 to 18, show your working clearly in the space below each question Do not write in

this col
and write your answers in the spaces provided. The number of marks awarded is |
shown in brackets [ ] at the end of each question or part-question. {50 marks)
6. A group of pupliis scored an averége of 72 marks for a test. When the scores of
two additional pupils, totalling 180, are included, the average score of the group.
becomes 74 marks.
How many pupils were there in the group at first?
[3]
7. Lorraine keeps some 20—cenf and 50-cent coins in a box. The coins add up
to $15.80. If there are 5 more 50-cent coins than 20-cent coins in the box, how
many 50-cent coins are there in the box?
Ans: 3]
6 |
PS5 Math SA2/Paper 2 2012




) . _ . " Do notwrite i'n -
8. Farmer Tim has a total of 60 horses and chickens in his farm. If the horses and [| s cotumn

. chickens have 168 legs altogether, how many horses does he have in his farm?] .

Ans: 13)

9. A pineapp_lé cost 4 times as'much as a pear. Mingli spent —g— of her money on

- some pineapples and’ % of the remaining money on 16 pears. How many

pineapples did she buy?

Ans; [3]

P5 Math SA2/Paper 2 2012 4
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0. Ali and-Ben had different amount of ﬁ\oney; If Ali epenf '$'35 eaeh \;&eek and Ben S*?Slgfnﬁf i
~ spent $70 each week, Al would stll have $920 leftwhen Ben had spent all his |
-money. If Al spent $70 each week and Ben spent $35 each week Ah would
still have $380 feft when Ben had spent all his money

How much money did Ben have at first?

L -Ans__ : Bl .

11.  Asurvey carried out by a school revealed that 1185 of its pUpI[S waik to school
o every day. 60% of the remaining pupils go to school by bus while the rest of the

pupils go to school by car. Given that % of the school enrolment goes to school

by car, what is the enrolment of the school?

Ans: [4]
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L - ) . Do not write in
12.  Theline graph below shows the amount of money raised by six children during tis column
a fund-raising event. Study the graph careful!y and answer the questlons that
follow B ‘ B R
Amount
(%) .
van Diane Alex Eric May Jo
(@  VWhatwas the total amount of money raised by the children?
(b) -If the children’s target was to raise $1000, what percentage of the
targeted amount were they short of‘?
Ans:(a) (1}
(b} (31
4
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13, Inthe figure below, not dfawn to scale, JEFH is a trapezium.  loseoomei
- JK//EL and JE // HF. Find the values.of Zp and /q. ‘

(2]

Ans: Zp

f2]

Zq

P35 Math SA2/{Paper 2 2012 7



" | Do notwrite in .

4. - MESS Dew bought 3 kg of- strawbernes and 7 kg of prunes MISS Tay bought 7 : this golumn
kg of strawberries anc3: ke of prunes. MISS Tay pa:d $20 more than Mlss -
o _“De\n 1 Kg of strawbemes cost $19; What Was the total cost of 1 kg of
-._-strawbernes and T Kg of prunes? :

Ans: 4]

P5 Math SAZ2/Paper 2 2012 8
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15." A cubmdal tank measunng 15 ¢m by 35¢m by 35 cmis attachedtoa - - | thiscolmn
T-shaped. tank as shown below (not drawn to scale). : :

16 litres of water is.poured into. the: cuboidal tank.- As-the water rises arid:
.- Teaches e hole; it flows through the Hole into.the T-shapéd:tank. Find the--

' 'helght of the water: Ievel in the T—shaped tank: (Correct 3 your answerto 2
decimal places)

hole

35 ¢m

AN
\

!
E - M0cm

+13cm >

12 em +13 cm 15 cm

[¢—15 cm—*i

Ans: (4]

P5 Math SAZ/Paper 2 2012 9
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Do notwrite in

16. EFGHisa square of side 16 cm. J and K are the mid-points of EF and EH j s column
respectively. Find the area of the shaded patt. '

Ans: {5}

P5 Math SA2/Paper 2 2012 10 19



17. The diagram below shows a series of cubes formed using identical rods, DS potvirten . . |
.l,‘l._..- I;.--.-l.__; - ‘ )...'.- RN A T
Pattern 1. ' Pattem2 © Pattern 3
Pattern1: 12 rods.
Pattem 2: 20 rods.
Pattern 3: 28 rods.
(a) How many rods are added to form one more cube in the next pattern?
(b) How many rods are needed to form cubes in Pattem 107?
(c) If 148 rods were used to form cubes in one of the patterns, which pattern
will that be?
Ans: (a) [1]
(b) 2]
{c) 2]
5
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18.  Dinesh, Eric and Farid were required to collect an equal number of fiyers for | peroLwitein
- distribution. Dinesh collected his share of the flyers from the pile and left.

. Not realising that Dinesis share had been také, Eric took = of it and lef |7 "

- Finally, Farid came and took % of t_he remainder and left. In the end, there were

128 ﬂf(érs- left. How many flyers were there in the box at first?

Ans: {5]

End of Paper 2 I ; 5
~ Please check your work thoroughly. ~

P5 Math SA2/Paper 2 2012 i2

23






SCHOOL : SCGS
SUBJIECT : -PRIMARY 5 MATHEMATICS

TERM - : SA2
Gl o2 o3 Galos 07 ] 68 | 0 |00 011|012 | Gi3 | 014 015
2 T3 e 432 T2 {32 7T 11371 ]4ai3
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1 space-3>300m-+2 = 150m
g~1 =7
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27ySweets : Chooolates 29116
3 : 5
- 3 o 30)Shaded part->9u — Su = 4u
Bu~3u=2u . . Su->200cmz .
2u-26 : 1u->20cmz+4 = Scmz
IurB+2=3 ' Ortginal>9u
3u + 5u = 8u u>5anz % 9 = 450

Bu2>Zx8=24

2838 years old
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Answer Key


1)180° ~ 125" = 55°
55° +90° = 145°
180" —145° = 35
90" —35° = 55
35" +45° =gg°
180° — 80" = 100
180" ~90" = 45*
125% - 45* = go*

2)2.54 = 2Bdcm

" Black-»254cm
White>254cm + Slam = 304cm
Total->254cm + 304cm = 558cm
558cm = 5.58m

3284247 = 305
496 — 7 = 390
3997 = 57

4)Box + 40 marbles->dkyg.
Box + 55 marides-5.08ka
53~40 =15

A5 manbles-35.08kg — 4kg = 1.08kg

1 marble>1,08ky+15 = 0.072kg
0.072ky = 72qg

S).2 files ~ $4.20 = 7 files + $&.80
12 files - 7 files = 5 files
$8.80 + $4.20 = $13
5 files-> %13
1flle3$13: 5 = $2.60

G4~ 72=2
2u->180
Iu>180:2 = 99
20 ~72 =18
MNow, there ara 18 pupils
18- 2 = 16
At first, thera wera 16 pupils,

Fage 2

TEeLE b e s ;g L



- 7)50(; A ‘
o A $15.80
' 20C ’

5 x'$0.50 = $2.50

$15.80 — $2.50 = $13.30

1 set>4$0.50 + $0.20 = $0.70

$13.30:-%0.70 = 19

There are 19 sets of $0.70 so, there are 19 $0.20
$0.50>19 + 5 =24

8)All horses>60 x 4 = 240
© Extra—>240—-168 =72
72+-2 =36
60 —-36 =24

9)7/7—-5/7=2/7
2/7+2=1)7
1/7->16 pears
1/7-2>16-+4 = pineapples
5/7->4 x5 = 20 pineapples

10)3u>%$920 — $380 = $540
1u->$540+3 = $180
$180 x 2 = $360

11)5u>1185 -
1u>1185+5 = 237
10u->237 x 10 = 2370

12)a)lvan—>$50
Diane->$175
Alex->%$100
Eric>$125
May->%$225
Jo>5150
Total>$50+$175+$100+$125+$225+$150 = $825
b)Target->$1000
Raised>$825
Diff>$1000 — $825 = $175
175/1000 x 100 = 17.5%

Page 3
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13)180° —63° =117°

136° + 117° = 253°.

- £9>360° — 253° = 107°
- 180° —136° =44°
©90° +44° =134°

180° —134° = 46° -
a6 90 =136
. 180° —~136° = 44°

14)56
15)16.637

16)Area of fig> 16 x 16 = 256
AD> Vax8x8=232
B> 12 x8x8 =732
C2>%x8x16 =64
324+ 32+64 =128
D->256 — 128 = 128cm:

17)a)20—-12 =8

28-20 =8
h)84
€)148 -~ 4 = 144
1448 = 18
18)2u->128
1u>128+2 =64
' 64%x3 =192
2u=>192
1lu>192-:-2 = 96
96 x 3 = 288
288+-2 =144
144 x 3 =432
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